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@ q@ @ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
1,801 x 10000 = 2,211 x 10000 =
9,433 x 100 = 1,365 x 10 =
10, 738 x 1000000 = 10, 375 x 1000000 =
6, 38 x 100000 = 1,937 x 100 =
10,004 x 10 = 8, 003 x 10000 =
6,313 x 100 = 9,84 x 1000 =
8,268 x 100000 = 4,634 x 10 =
10, 76 x 10000 = 1,917 x 100 =
1,838 x 100 = 5,623 x 100 =
4,992 x 10 = 7,449 x 1000000 =
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Multiplique decimais por poténcias de dez

Nome:

1, 801 x 10000 = 18010

9,433 x 100 = 943.3

10, 738 x 1000000 = 10738000
6, 38 x 100000 = 638000
10,004 x 10 = 100.04

6,313 x 100 =631.3

8,268 x 100000 = 826800

10, 76 x 10000 = 107600
1,838 x 100 = 183.8

4,992 x 10 =49.92

Encontro: Data: Pontuacao:

2,211 x 10000 = 22110

1,365 x 10 = 13.65

10, 375 x 1000000 = 10375000
1,937 x 100 = 193.7

8,003 x 10000 = 80030

9, 84 x 1000 = 9840

4,634 x 10 = 46.34

1,917 x 100 = 191.7

5,623 x 100 = 562.3

7,449 x 1000000 = 7449000
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